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5(I8)cm + 9m10cm = 9m638cm (étlrlr360cm — 3m = Im60cm
5(?:1 + | Im29cm = [ 6m29cm (6|r2r13<7cm — 3m = 3m39cm
é::r)ISOcm — 30cm = 5m20cm (qlfriCJOcm — 7m = 2m90cm
S(LrLr)lBlmm —7cm = 8m2/cm gg)cm + 5m20cm = 5m50cm
I(iZmlLOcm —3m = | Im40cm (Ilg)mqltcm + 4cm = |10mY98cm
3((;313 lcm + 3m = 6m3lcm (Ilg)m23cm — 20cm= 10m3cm
li?léOcm + 30cm = 4mY90cm g:n)BOcm — 20cm = 7m|[0Ocm
Eéfr)16'7cm + 4m = |2m6'/cm (Ilz)m()Ocm — 30cm= 16m30cm
I((Z))m'70cm +3m = |13m70cm (Z‘I:ri + 7m85cm = Im385cm
(Ilg)mSOcm —5m = | Im30cm (222 + 3m‘/cm = 5m'/cm
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